3~ KFRE?

-~ RFREY PR

P 110 EEa P 04788 M 2% o HY EITAE 66166 B b ot}
69.80% » = %4 F 23849 th= = 2 ¢ | 2516% & #5F 4773 h ¢ 5.04% ;
EiTEE 66166 B 2t P o E xjhokE L 56888 @ S A% s f £iTinE 85.98%:
E51% KR 5608 B A o [ &R E 2 848%; £ -k EE® -k E 36.68 @
24w} EEEE 2 554% e

N 110 EH Tk kR 5053 B ok EREE ATTIIRE S A% 0 H Tk

AL A R R B

CREREF PR — & Rt R

AR10l E# KR 17310 /> o s H P B ER L 12514 g > % B o
b F AR KR 2 T229% 0 4 E ok 3186 R Kz F AR RE 2
1841% > 1 %% -k 1610 = > 2 fik > FF E@r k£ 2 930% o %R 110 £ & &
dokE 14346 gt o o He B R L O7E7 et ot kg o AR RE 2L
68.01% ; # #F* -k 3163 = > o=tz > FFER* LF2 2205% ; 1 ¥ * -k 14.25
B o k™M fyERYLEZ 9.94% -

» Bl 1 4% 69 A KA

120 0—~%~$HH*H4_—¢ ¢ kh*\\t_

100

EERK
”'; 22 B4z E
2 A g E K
240
R.

20 A —A—=aA

101 102 103 104 105 106 107 108 109 110 =+



= kiR AR
Fr& (AW38ED 110 ) & Ts0%a 5 2500 4 - Bt ahy Fa@RA G
¢Azﬁ,aa5$$?%%ﬁﬁﬁ°

]7?9‘\4%6%£359;109?i%$$’£§*%9@§%6E

ThEHF  FRBEAROF Ak FE L 2 hE 4 SRk 0
AR A TS R BE Hek Bt A B Fradagagih2ztto
LAt k- e R ER REEAZ L TR AER kAL G 2850
ErokBS G 1A BEY KRG LAY KBE2 B AR A FRET 2L RS
£ -

\5

B A kPR < R R ha £ oUTIR s fo kPRI RIpe £ iR R £
PoRE R EPEREEY RES T A EY K

R0 TiEa L 2633 F 4 0 {2109 & Tk a R L 201284 Al
POACR > RESFHE -5 LFREER ~ 47~ w R AT R ER R PREE 110

E - R IR

o



